BALL BEARING UNITS -PILLOW TYPE - BOTTOM MOUNTED CASTING HOUSING TYPE-

& R TR

—iSEME - KRR EE—

BALL BEARING UNITS -FLANGED CASTING HOUSING TYPE-

188 B R TR 7R

—iSE A A —

7 Order B3 (Type D)

AT w5

Order B (Type-D)
MMES  ppR20
2D |
CADm
PDR (&) PDB (E#%#5) PDRCP t&m#ta)
2—M1 , 2—M1 2— M1
(EE A1 (75 i ) (EEL) &
LI e ﬁ‘t\'S
- - L LU - H
! L1 ! ‘ L' ‘ L1
L L L
EEE S B 1558 @ AFER A Z eI MEAZ TR
JS B 1514 ER, WE, RBERITRE, AERFH
JS B 1559 B8R0 LSBT A 30 E T A, th AT T .
ERGEM RS B © H7 (SIREES)
(D{EPDRCPAFEEIT (FRILMIA) = “ﬁﬁW# EE*’{H
PoRLPmt ! DEEE MOFaE54FC200
{EARE . —15~+100C o DA E#2sU)2
Tﬁi@iﬁiqﬁf‘}éNo. : 1/41—%8UNF(§%’J%FJ§) ) Wm
g %‘: @E RV R AR OINGE, WEREGELTBE, @EEEH | [BERSOM5
[&]
E B EFHEERE (kN) IR =8
EE Type | D |YSNo-|H L Li|A |di d| M |2t H B|S| Cr [ Cor | \ [REMWEE__#W&E [T
yp (EhHE) | (FREE) (N - cm) | &8/ (N)
12 | UCP201 650
L 15 | UCP202 |30.2 62 392 640 630
ok i 127]95 | 4o | 19| 14 luiox1s| 12| 18 31 (127| 128 | 66 Hox07s L
BE 20 | ucp204 [33.3 65 : 1280 650
@ pDR |25 ] UCP205 |36.5]140[105 16 15 [ 16 | 70 [34.1[14.3] 140 [ 7.9 490 1400 790
" 30 | UCP206 [42.9[165[121] 4o |, 18 [ 18 83 [38.1[15.9] 196 | 11.3 1960|1260
= 35 | UcP207 [47.6/167 127 17 Imtaxaol 20 | 19 [241429]176] 259 | 15.4 2590  |1590
zE 40 | UCP208 [49.2[184[137| ., | 25 : 100( 05 293 | 179 | M8x1 1180 2930 [1920
& 45 | ucpP209 [54.0(190]146 22 o5 | 20[108]™%/ 19 [ 330 | 205 3300|2190
] 50 | UCP210 [57.2206]159] 60 | 25 | 20 [M16X2.0 22 [114[51.6 355 | 23.2 |M10Xx1.25] 2350 3550|2590
LIS | EXEEHE (kN) IR =e
# Tvoe | D |YSNo-|H| L Lt|Aldi|d| M |2|t|H B|S| Cr [ Cor M |REREE  BAE (9)
* yp (EhRE) | (BREE) (N - cm) | &%&F8EA (N)
12 | UCPA201 550
- 15 | UCPA202 392 640 530
2 7 Tucraz0s 1302 76 | 52| a5 | 19 | 13 |m1oxa5| 12| 8 | 62| 31(127| 128 | 66 o075 0
& 20 | ucpPA204 : 1280 500
;ﬁ ppB | 25 | UCPA20536.5] 84 | 56 16 15[ [72[34.1[143] 140 | 79 490 1400 720
& 30 | UCPA206 [42.9 94 | 66 | ,o | ,, 18 84 [38.1[15.9] 196 | 11.3 1960 [1020
35 | UCPA207 [47.6[110] 80 = s @ 95 [42.9[17.5] 259 | 154 2590|1580
i 40 | UCPA208 [49.2(116] 84 | , | 25 . 12 [100[,0 293 | 179 | Mm8x1 1180 2930 [1840
=% 45 [ ucPA209 [54.2[120] 90 22 . 108"/ 19 | 33.0 | 205 3300|2060
tH 50 | UCPA210 [57.2[130] 94 | 60 | 25 | 20 [M16X2.0 14 [116[51.6 355 | 23.2 |M10Xx1.25] 2350 3550|2440
s B EXTEERE (kN) LFiEE §k
@ e |ID|H| L || A|d|d]|t|H | B|S Cr Cor My |REHE mEarn HE()
uwe yp (BhEE) | (BRHE) (N - cm) | BEZ1 (N)
mis 12 390
k) 15[ 302 | 114 | 87 | 25 12 | 57 | 220| 6 | 955 48 | vsxos | 240 476 380
PDRCP| 17 16 | 12 ’ 360
(msemg) | 20 [ 333 [ 125 | 97 | 27 13 |64 [247] 7 | 128 6.6 250 1280 480
25 [ 365 | 130 | 100 [ 29 70 [270] 75 | 140 | | 1400 590
30 429|156 | 120 | 33 | 21 | 14 | 15 | 83 [303] 8 | 196 | 11.3 : 1960 700
(@kgf=Nx0.101972
' @PDR15 - 20~40 - 50 @zt I oh RNl | BRAm
m Delivery ~ppRog . 25. 30 BEER | o &
HRE 2 BHE W E | 150 51~
@ [E 17 & |mAdsesrs HEH | - | SR
BBRPRARESTHR .
(@) B B A EPMA00RT IR FREE 2 3T 5, CEAERRAMBTTIRE

809

HDH20
(cap B
kOADm
HDH (ERsmE) HDF (5754m8E) B
0]
Y 4—d1
2—d mj §} %
o (&) P
>
T
FFw T
WEBE NS B 1558
JS B 1514
JIS B 1559
RS BB R B B RSB © H7 (S305EE ) _BREHE | [z
(DIEHDHOP &S (R LW)E) _OEEE | MHEERMFC200
fERBE | —15~+100C @i [AEE7SU2
BRSSO - 1/4—28UNF (iR _oigim | aAREE (NBR) ) B
OBERBMFEROINEE, MEREHLISE, @1E5mizkh | THEEASCM435 i
&
B EXEERS (kN) LFiER E
T p ["'SNo. F |Fi|/W|L|Lt|t|AAiA2d|di B S| Cr Cor My | REIERE Bam g HE(g) EE
ype (BnRE) | (BEAE) T |(N-cm) &7 (N)
12 [UCFL201 470
f
15 UCFL2021, 451 o1 [ 6o | g6 | 64 | 12 [33.325.5] 15 | 12 31127 128 6.6 S 640 | 450 ??x
17 [UCFL203 o i 440 BE
20 |UCFL204 : 1280 420 &E
HDH |25 |UCFL205[130/ 99 |68 |95 70 |, [35.8 27 | 16 341143  14.0 7.9 490 1400 590 b
30 |UCFL206|148]117| 80 [108] 83 40.2/31]18] o 38.1[15.9] 19.6 1.3 1960 900 p
35 [UCFL207[161130] 90 [117] 92 | , - 144.4/34 [ 19 14 42.9117.5] 25.9 15.4 2590 1200 =
40 |UCFL208|175]144[100[130[102] "~ [51.2] 36 | 21 102 29.3 17.9 M8X1 1180 2930 1510 g@
45 |UCFL209188]148[108[137[105] ,, 1622/ 38 [ ,, [ 14| 16 [~ 19[ 330 20.5 3300 1900 &
50 |UCFL210]197[157[115[143[111] "~ |54.6] 40 51.6 35.5 23.2  |[M0x1.25] 2350 3550 2200 ]
B EXEERS (kN) TRk
S p [MISNo/ F |Fi|W L |Li|t|AAiA2d|di|B|S| Cr Cor M, | REHE A S HE () #h
yp (EpHE) | (EBAE) (N-cm) | BEFI(N) *
12 [ UCF201 630
15 JUCF202 4451 o4 [ 6o | 86 | 64 | 12 [33.325.5| 15 | 12 31 (127, 128 6.6 Sz CACR - U &
17 [ UCF203 . T 600 &
20 | UCF204 : 1280 580 &
HDE |25 |UCF205[130( 996895 |70, , 135.8 27 | 16 34.1[14.3  14.0 7.9 490 1400 720 ﬁ
30 | UCF206 |148]117] 80 [108] 83 4023118 | 38.1115.9) 19.6 1.3 1960 1010 &
35 | UCF207 [161/130] 90 [117] 92 | , - 144.4 34 [ 19 14 42.9[17.5] 25.9 15.4 2590 1380
40 [ UCF208 [175/144[100[130[102] "> [51.2] 36 | 21 bl 29.3 17.9 MBX1 1180 2930 1770 sk
45 | UCF209 |188[148[108[137(105| |, [52.2/ 38 | ,, | 1o |16 || 19| 330 20.5 3300 2070 =
50 | UCF210 [197[157[115[143[111] "~ |54.6] 40 51.6 35.5 23.2  [M10x1.25] 2350 3550 2360 #r
B EXEEHS (kN) L@ =0
Tvoe p| FI|FP W[t | A A A d| B|S Cr Cor vy | FEEE| amaRE | BE(9) W
yp (EhHE) | (BBEE) (N.-cm) | BEA(N) -1
12 280 mi
15| 81 [635| 56 | 95 [255| 18 | 95| 7 | 22 | 6 | 955 48 | evos | 250 476 270 5858
HDHCP | 17 ' 250
(mam) |20 90 |715] 63 [, [287[ 20 | | l247] 7 12.8 6.6 1280 300
25| 95 | 76 | 69 30.5 | 20.0 27 | 75| 140 79 | yexo7s| 490 1400 400
30 [ 113 ]905] 79 | 12 [343[225] 12 | 12 [303] 8 19.6 11.3 : 1960 580
(Dkgf=Nx0.101972
) @HDH15-20- 25 - 30 TmEms | BELER | TSR
m Delivery = inF20 . 25 30 - 35 BEER o8 *E
HEE [ 1~50 51~
E 7 5 |matEesrs HER | g | SHRE

OBERPEAMERTHRME,
.5

@ [& B HE EEA A E BPMA00RTIR H A ZETE, »P.

B % FAX
2E P.9 RRia:02-2510-376640

810




